
Lake Tahoe Habitat Key: 
 
A = Conifer forest = 900 
 
B = Development = 200 
 
C = Lake Tahoe = 400 
 
D = Development = 200 
 
E = Riparian = 500   
 
Lake Tahoe Complete Habitat Key: 
 
The complete Habitat Code is based on on-the-ground knowledge.  Since this is an aerial 
photo with no on-the-ground pictures, a number of answers would be correct. 
 
A = Conifer forest =902  Best guess because you can’t tell from the picture the size of the 
trees, so there could be all sizes (0).  Because you can’t see the ground, the third digit “2” 
for closed canopy would be appropriate. 
 
B = Development, High developed, Residential = 211  The homes sit next to each other 
connected by a road and canal system.  There is very little vegetation. 
 
C = Lake Tahoe = 410 
 
D = Development = 231  This is a difficult one for people.  There are homes scattered 
throughout the forest.  There are roads connecting those homes and yards you can’t see 
through the trees.  Development is the dominant habitat.  Low density development = 3 
and 1 = residential. 
 
E  = Riparian = 530  If students call this a river then the code would be 415, but the thick 
line contains land on both sides of the river, therefore it should be labeled riparian (3) and 
since you can’t see if there are submerged or emergent herbs/shrubs, all wetland types (0) 
would be the answer. 
 
 
 
 


